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Question 1

ABC Ltd produces a single product, Product X. it uses two(2) workers, A and B to
produce the product.

Factory overheads are absorbed on direct —labour hour basis. The total budgeted
factory overhead costs and direct labour hours for year 2012 are E100,000 and 50 000
hours respectively.

ABC Ltd remunerates overtime at 1 % times the normal rate. Bonus is paid under the

Halsey scheme. Normal working hours are 40% per week. The following information

relate to the first week of January 2012 where 180 units of Product X were produced.
Direct materials

~ January 1 opening stock 50 kgs @ E2.00

January 2 purchases 100kgs @ E2.50

January 3 Issues 60 kgs
January 4 Purchases 80kgs @ E3.50
January 5 Issues 100 kgs
Direct labour
Employee A  Output achieved : 90 units
' Actual time taken 45 hours
Basic wage rate per hour E10

Each unit of Product X is allowed 20 minutes.

Employee B
Output achieved : 90 units
Actual time taken - 43 hours
Basic wage rate per hour E6

Each unit of Product X is allowed 30 mnvnutes

REQUIRED: Compute the total production costs incurred to produce the 180 units of
Product X. Assume the Last —in — First- Out (LIFO) method to value inventory of dxrect
material ( raw materials)

Total (25 Marks)
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Question 2

Akona Ltd uses a predetermined overhead rate in applying overhead 10 order ona
labour cost basis for Department A and ona machine-hour basis for Department B. At
the beginning of 2010, the company made the following predictions:

Dept A DEPTB
Direct laobur cost E128000 E35,000
Factory overhead 144000 150,000
Direct-labour hours 16,000 5,000
- Machine-hours 7000 , 20,000
REQUIRED:
a) Determine the predicted overhead rate that should be used in Department A and
Department B ( 5 Marks)

b) During the month of January, the cost sheet for production order no.300 shows the
following: '

DEPT A DEPT B
Materials requisitioned E20.00 E40,00
Direct-labour cost 32.00 21,00
Direct-labour hours 4 3
Machine-hours 1 13
Determine the total overhead cost of production order no. 300. (4 Marks)

¢) Assuming that Job no.300 consisted of 20 units of product, what is he unit cost of
Job no.300 ( 10 Marks)

d) At the end of 2010 it was found that actual factory —overhead costs amounted to
E160,000 in Department A and E138,000 in Department B.

REQUIRED: :
Give the over or under applied overhead amount for each department and the factory as
a whole. Assume that total actual direct-labour costs and machine hours conformed
with the original predictions , . - ( 6 Marks)

P Total (25 Marks)
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Question 3

Siza Ltd operates a single process from which its product Dex emerges. The following
details regarding production for November 2012 are available:

There was no beginning work-in process

Unit started — 10,000. During November, 6000 units were fully completed and

transferred to finished goods inventory. Normal loses are 10% of input. Ending work in-

process was 1500 units which were 100% complete with respect to direct materials,
80% complete with respect to direct labour, and 60% complete with respect to factory

- overheads. Losses are deemed to occur when production is fully completed. Loses are

sold as scrap for E0.10 per unit.

Input for November, 2012:
Materials E36100

Direct labour E26100
Factory overheads E16800

REQUIRED: Compute the following :

a) value of completed units (5 Marks)
b) value of abnormal loss (5 Marks)
c) value of ending work-in process (5 Marks)
d) prepare the work in process account (5 Marks)
e) prepare the abnormal loss account (5 Marks)

Total (25 Marks)
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Question 5

Simo Ltd produces camping tents. Production takes place in three departments,
namely cutting, sewing and finishing. There are two service departments namely,
personnel and inspection. Shown below is an extract from the budget for the
manufacture of 8800 tents for the year ended 30 November 2012;

Production Departments Service Departments
Cutting Sewing Finishing Personnel Inspection
Budgeted
Overheads 411525 E72850 E82900 E118500 E92200
Allocation of
Overhead 18% 38% - 29% - 15%
- Personnel 45% 13% 32% 10% -
REQUIRED:

Allocate the service departments’ or overhead costs to the production cost centres
using the repeated distribution method. Confirm your answer by using the method of
simulteneous equations. (Start with the personnel Department)

Total (25 Marks)



